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Cuadro 14 (continuación 3)/Table 14 (continued 3)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.061 0.059  100 000  5 863  95 511 0.936 b 6 331 587 63.3
1 4 0.004 0.015  94 137  1 393  372 677 0.988 c 6 236 076 66.2
5 5 0.001 0.006  92 744   511  462 441 0.995 5 863 399 63.2

10 5 0.001 0.005  92 233   428  460 093 0.993 5 400 958 58.6
15 5 0.002 0.010  91 805   909  456 750 0.987 4 940 865 53.8
20 5 0.003 0.016  90 895  1 477  450 783 0.981 4 484 116 49.3
25 5 0.004 0.021  89 418  1 893  442 359 0.977 4 033 332 45.1
30 5 0.005 0.024  87 525  2 114  432 342 0.974 3 590 974 41.0
35 5 0.006 0.027  85 411  2 334  421 223 0.970 3 158 631 37.0
40 5 0.007 0.033  83 078  2 729  408 567 0.963 2 737 409 33.0
45 5 0.009 0.042  80 349  3 391  393 267 0.951 2 328 842 29.0
50 5 0.012 0.057  76 958  4 363  373 882 0.933 1 935 575 25.2
55 5 0.016 0.078  72 595  5 654  348 840 0.908 1 561 694 21.5
60 5 0.023 0.108  66 941  7 209  316 682 0.873 1 212 854 18.1
65 5 0.032 0.149  59 732  8 874  276 477 0.826  896 172 15.0
70 5 0.045 0.203  50 859  10 331  228 464 0.766  619 695 12.2
75 5 0.063 0.274  40 527  11 089  174 913 0.668  391 231 9.7
80 5 0.104 0.413  29 438  12 169  116 768 0.539  216 318 7.3
85 5 0.152 0.542  17 269  9 361  62 942 0.420  99 550 5.8
90 5 0.208 0.661  7 908  5 230  26 464 0.314  36 608 4.6
95 5 0.271 0.760  2 678  2 035  8 299 0.182 d  10 144 3.8

100 ω 0.348 1.000   642   642  1 845  1 845 2.9
Mujeres/Females

0 1 0.047 0.045  100 000  4 494  96 655 0.950 b 6 985 539 69.9
1 4 0.004 0.014  95 506  1 345  378 254 0.989 c 6 888 884 72.1
5 5 0.001 0.004  94 160   411  469 773 0.996 6 510 631 69.1

10 5 0.001 0.003  93 749   288  468 026 0.996 6 040 857 64.4
15 5 0.001 0.005  93 461   429  466 234 0.994 5 572 832 59.6
20 5 0.001 0.007  93 032   605  463 648 0.993 5 106 598 54.9
25 5 0.002 0.008  92 427   785  460 173 0.990 4 642 950 50.2
30 5 0.002 0.011  91 642   976  455 771 0.988 4 182 777 45.6
35 5 0.003 0.014  90 666  1 228  450 263 0.984 3 727 006 41.1
40 5 0.004 0.018  89 439  1 601  443 191 0.979 3 276 743 36.6
45 5 0.005 0.025  87 838  2 175  433 751 0.970 2 833 552 32.3
50 5 0.007 0.035  85 663  3 031  420 735 0.957 2 399 801 28.0
55 5 0.011 0.052  82 631  4 266  402 491 0.936 1 979 066 24.0
60 5 0.016 0.076  78 365  5 958  376 930 0.907 1 576 575 20.1
65 5 0.024 0.112  72 407  8 108  341 765 0.864 1 199 645 16.6
70 5 0.036 0.164  64 299  10 529  295 172 0.804  857 880 13.3
75 5 0.053 0.235  53 770  12 618  237 302 0.706  562 708 10.5
80 5 0.091 0.372  41 151  15 304  167 497 0.576  325 406 7.9
85 5 0.138 0.507  25 847  13 106  96 473 0.450  157 909 6.1
90 5 0.195 0.636  12 742  8 109  43 437 0.335  61 436 4.8
95 5 0.260 0.745  4 633  3 452  14 536 0.192 d  17 998 3.9

100 ω 0.341 1.000  1 181  1 181  3 463  3 463 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


